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TEi5m e R AN R EEmT

1FEPREE 52.17m 15.781F
2SR MEFE 52.17m 15.781F
REEPRETE 4.29m 1.301%
EARKETE 108.63m 32.861F
H#h IR ETE 0.00m 0.001f
R—FREE 2.48m 0.751F
NLa——FRERE 37.99m| 11.491F
A7k (&) miE 7.45m 2 251F
e T EfE 156.55m| 47.361%
BEARAKIE 16,341,824H

SNEFEHEK = 515,920

NETE oM
JAaFa—XH 3,371,549

HEMR 1,618,343H
BEEZER 310,641

PRIESEE (FA) 22,158,277H
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EREE 108.63m EImEE 156.55m
ITEH4 KERERFTE T E TEIGm Y& AR IR
B{r:M
No. IH# H R H=E | B ==K S&E k=
1R E% & 1 = 592,109
Q1EMTE 1 =® 1,008,926
J|IRTEB(EERIKN) 1 Ea 3,511,990
4| RTEB(NERELE) 1 = 2,278,131
5|BIRIE 1 = 169,000
6|FRbE-HRETE 1 = 278,640
NEE-FM/IIE 1 = 258,080
S|MEETSE 1 = 1,203,200
IAREETSE 1 = 707,300
10|NETE 1 = 268,450
1| ZBETSE 1 = 30,000
12|BXEETIE 1 = 852,600
13|#AHEK-HR-BERKIE 1 = 756,400
14|F 8- FFEETIE 1 = 1,581,000
15| T= 1 = 905,779
16|9NBEY AT+ T 1 = 1,940,220
17[/1hEtH1 16,341,824
18|9M ERaHE KIS 1 = 515,920
195MEIE o] = 0
20[/NEt2 16,857,744
221707 1—R% 20 % 3,371,549
23 EE TR 8] % 1,618,343
24| JBEHEERREE 108.63 m 2,160 234,641
25| L REBFATIREF A 1 = 76,000
26
27
28
29
30
= B 22,158,277
_2_

Wr—orrqsozOyv7




TEHA REETE

B [

No. IH H RERET HWE | B B (i pog] EE
1[5V 88 2 35 240.00 |m 600 144,000
2|5\ BB B B 1.00 [ 15,000 15,000
| BIFGAY 2 —b 240.00 |m 200 48,000
4REERL 1.00 [= 18,000 18,000
S5|EEXBEEYNS AtEL 3.00 |[& 42,000 126,000
6|BEER—FL 1.00 | 24,000 24,000
1|EEER 156.55 |m 380 59,489
BIFEELE 156.55 [z 400 62,620
9| E% K& 1.00 [ 50,000 50,000
10|SSH AR E 1.00 [= 25,000 25,000
11| EBiR 25 8T BEC 20.00 |m 1,000 20,000
12
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AIZEEEREK)

B [

No. 15 H TR HWE | B B (i Eof ] EE
1|fEEH TUhyhEED 10863 m 13,000 1,412,190
2| - B N\vx 108.63 m 2,000 217,260
3|IEVEM 45%30 45%45 60%90 108.63 m 4,000 434,520
4|8T-ER-RUK 108.63 m 2,000 217,260
5| BT (1BEEK) EERAER28mm 29| # 3,000 87,000
6| M (2fE+OTk) EERAER28mm 4| &, 3,000 102,000
7|5 (FrihAR) BEERAEART2mm 700 & 1,400 98,000
8| FTiEM HRAR—F 12 #® 3,300 39,600
O|FTEM ANZ712mm 0 & 1,800 54,000
10| R FE1 BAIE 11| A 20,000 220,000
M| XITF/E2 NILO——EETE 11.49| iF 10,000 114,920
12| ERERFL Y h— 1 =] 42,000 42,000
13| W41 (FR) 29.00] 1,760 51,040|40mm RAA/OIT—X2
14| B 204 (B2) FEiERTEL 230.00 m 780 179,400|G7—)L 16K 75mm
15| B EA4t (E1R) K FHrEh 53.00 m 2,600 137,800({G™7—JL 16K 155mm
16|B /N )La=——F {8k 21 m 5,000 105,000
17
18
19
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& F 3,511,990
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TE#/% AIE(REREE)

B [

No. 15 H TR HWE | B B (i pog] EE

HEBELE) JEE 1 = 28,380 25,740

2| $TiEM EAg s 1 = 65,670 65,670

3| FTiEM B B 1 = 215,721 215,721

A|FREM FEERF9Y) 1 = 48,939 48,939

5|$TiEM 2 BEE 1 A 15,500 15,500

6| FTiEM Z MR 4 XK 5,800 23,200

7| $iEM FREKR 2l K 462 924

8| FTiEM KT m#&0 1 & 6,500 6,500

O|FTEM 20— 5 32— 13,000 416,000 0 DEFEIFT7AT
10| #TiEH BEER—K125mm 187] & 500 93,500|F B #r 523
11(FrEs AER—F9.5mm 751 & 400 30,000

12|32+ RELIY 2l K 3,500 7,000

13| #TiE# FyFoNhYA— 1 " 65,000 65,000

14| #7321 FEREEM o] =H 50,000 0|0 DEERM
15| KT FE4 EETE 32.86 ot 28,000 920,096

16| X TFR5 OJkIE 225 1iF 25,000 56,341

17|07 EIE 8| AL 20,000 160,000( 1 Bt - 2
18|3F B ki TEEM 4| NI 20,000 80,000

19|2FE AL EARSH/EEmMRIR |[#1 T 1 = 20,000 20,000(3E 70
20| RTURT SR -AHSRTOVARIFRH 1 = 10,000 10,000(3B0
21| B - CTFRYFTIT T 1 = 18,000 18,000|380
22
23
24
25
26
27
28
29
30

& § 2,278,131
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TEHS

EE-A(IIE

B [
No. 15 H TR HWE | B B (i Eof ] EE
ESdnES EILFITHEFIE 30 m 1,500 45,000
2| R—F - tRIMS LT 1 = 30,000 30,000
|R—FRA LA LS 1.8 m 12,000 21,600
4| K21 I LT 2.04 m 12,000 24,480
5|SCRAILILIE EIT 2.04 m 12,000 24,480
6|ESERE N EILZILE LT 8.28 m 4,000 33,120
1NBHEBEYSM1944)L Corabel (IS AN)L) 20| —hk 1,200 24,000
8| B HEBEYAU54IL EIRAA)L 110 & 40 4,400
o| B #th#t 9 3LvA (AMJI-PO1) 2lr—X 5,500 11,000|EEZE 24 )L B 8 00
10|/ T 1 = 25,000 25,000
11[mEm*1ILIET 1 = 15,000 15,000(380
12
13
14
15
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17
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19
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=l F 258,080
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TEHA MElEE TE B p
iz : [
No. 15 H TR nE | B B {fh Eof ] EE

ER L W=922 1 =1 180,000 180,000|YKKI = F—k S15
2 EJ:A‘»::—F‘? W730%H1830 1 98,000 98,000|YKK APW411
S 1FFHEHE 48 (ETE) |W640%HI70 1 29,000 29,000|YKK APW310
4 1F%1,\n 48 (FIXZE) [w300%H1370 1 14,000 14,000/ YKK APW310
SITFFHERE 458 (LT Z)|W300xH1370 2 29,000 58,000[YKK DA RA—
6 1F%1,\n 458 (FIXZ) [W300%H1370 1 14,000 14,000|YKK APW310
TNFFHEE 458 (5LEZE)[W1370xH970 1 45,000 45,000|YKK APW310
8 1F%1,\n 55 (F5:EZ) |W1640%H970 1 43,000 43,000]YKK APW310
FFHERE 58 (ETE) |W640%H970 2 29,000 58,000[YKK A2 R4—
10 1FFEEE 55 (5:E%&) |W1370%H970 1 40,000 40,000(YKK APW310
11|1F £ 2a—X490—4( £ TZ]W300xH2070 1 31,000 31,000[YKK A2 RH—
12|2F)E Y (BMM#H 5 R W1690%H1170 1 56,200 56,200 YKK APW310
13| 2F ik (FLEFIX) ® 640 2 42,000 84,000[YKK DA RA—
14| 2F 5 (R Y XY HZE) |W1690%H303 2 24,000 48,000|YKK 742 RA—
15| 2FR AL (T RYHLE W405%H570 1 23,000 23,000{YKK APW310
16|2FERATH)IILTOVIE 1 17,000 17,000
17|2F;A8Z= (ETR) aT&1)L—/{W640%H970 1 64,000 64,000/ YKK APW310
18|2FFvF > (B:ER) W1370%H970 1 40,000 40,000{YKK APW310
19[2FFvF > (FIXE W780%H303 1 9,000 9,000[YKK A RHA—
20[2FJEL Y (IREHLE W1690%H2230 1 103,000 103,000{YKK APW310
21|2FVEVY (KFEIR W1870%H1170 1 53,000 53,000|YKK APW310
2|12FEEE(LETE W405%H1170 1 31,000 31,000|YKK APW310
B|IBELE(GTRYBELE W1690%H370 1 41,000 41,000|LIXIL. H—ER
24| B £ (FIXE W405%H770 1 12,000 12,000|YKK DA RXA—
25| B E 1 12,000 12,000
26
27
28
29
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=l & 1,203,200
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TEHA AEEETE B f
iz : [

No. 15 H TR nE | B B {fh Eof ] EE
1|\FREET 750%2040 11 & 23,800 23,800| F#=3
2|FEIER 1488+%2040 1 =) 20,900 20,900| FZE2
3|FEIER 1488+%2040 1 =) 19,600 19,600| FH# =1
A|FEIER 1488+%2040 1 =) 19,600 19,600| FH# =4
5|k/1LE7 648+%2040 1 = 23,800 23,800|2F~A L
6|51 71T P ($%:E) 1 =) 50,600 50,600 &k
7|5|1E:8L\F 1 = 57,800 57,800 | B ER =
8| FEIER (4%:%) 1 = 45,300 45,300| FvF UM AN
9 FEIER 1488+%2040 1 =) 19,700 19,700(3%m

10[|/F5IZEF 1488%1800 ? 1 = 29,600 29,600 |BEER = (B 45E)
11| FREERT 750%2040 1 =) 67,600 67,600{1F~L

12| AT R EY 2600%2609 2l & 96,200 192 400| FHE-BE
13[70E VP 1637%2500 2l & 33,400 66,800 Ffit=2-3
14(70EvMMRP 727%2600 1 =) 18,900 18,900| FH# =1
15(70€vMMRP 727%2280 1 =) 17,700 17,700|SC

16(70F VNP 727%2280 1 =) 16,600 16,600(SC
17(70€v P 727%2280 1 =) 16,600 16,600| B =
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ITEHA BEXEwIE B
iz : [
No. 15 H TR HWE | B B (i pog] EE
1|5 B 1 = 98,000 98,000
2| EATEC AR 39| ~FR 2,200 85,800
3| RAYF 2THRAI 21| 7P 3,000 63,000
4|3 (4F%) RAYF 2THRIIL 6| 7Pk 4,300 25,800
5/130avtvk 16| & PR 2,500 40,000
6|20tk 14| &R 2,200 30,800
1| 7—AFEav Uk 5| &P 2,800 14,000
8|fFkar b 2| 7P 4,600 9,200
9|FLEIRF 8| P 4,800 38,400
10| B EEinmF 1| &Fr 9,600 9,600
1|—5—Rart ok 6| 7Pk 7,200 43,200
12|TVA3—R (# T) 1 = 50,000 50,000{VL-SWD501KL+CZ-TA2
13| P9 KT BL fR 1 = 9,600 9,600
14| B0 B 2] K 3,600 7,200
15| =R (24 B5 M) i) 1 = 19,800 19,800
16| =URm (24 B5MH) kL 2l & 18,600 37,200
17 R SEFRENER 4 & 3,500 14,000
18|24 R R)—7 7| PR 12,000 84,000
19(LANEC #7 2| 7P 7,500 15,000
20| EREEa - 9 &k 6,000 54,000
Q| TLE7ZUTFH(IDH) R T 1 = 20,000 20,000| 7 T AAKITHEEXE
22|BBEAZRE o] =H 0| Bll &
23|T7aVIE A )—TDHFELT 3| EiFk 4,000 12,000| 51 &
24|HEEAZR B ER AT 54| & 700 37,800
25(F D SARNRBIT 47| &P 600 28,200
26| KR 7 AU RA—D A AELHR 1 = 6,000 6,000
27
28
29
30
=l § 852,600
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TEHS

WBHEK- AR BERIBIE

B [

No. IH H TR BE | B B (i Eof ] EE
1[#8KTH 7 4FR 12,000 84,000
21%0im TS 3| AR 12,000 36,000
JIHRI=E MIH 1 = 0 0
4| HEKELE 1F 4 =R 20,000 80,000
5|HEKEEE 2F 1 = 18,000 18,000
6|1FkAL 1 = 219,000 219,000|7E {f1398300 & #XNET
7|2FkAL 1 = 170,000 170,000| E {fi309500 1 F&ENET
8| ER{T & 2l B 8,000 16,000
9| 1EJK4E 11| ~#Fhr 1,800 19,800
10|58 g/ N\ 1| #Ff 8,000 8,000
1| EEEERE 1 = 15,000 15,000
12| 1=\ RIEHE 1 = 10,000 10,000/ #5HEK. $AZELEDIEHRETY,
13| EER)—D 1 =® 10,000 10,000
14| BRURIKER o & 250,000 NliEST
15[BRYFTITEREE R 1 = 35,000 35,000
16|B LY 1 =) 19,400 19,400|3B/0
17|#8 /KB 1| #Pr 12,000 12,000
18[kKigE & 1 =) 4,200 4,200| B %5
19
20
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= & 756,400
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TEHS

MT=E

B [

No. 15 H SRR HWE | B B (i pog] EE
1|7\ )La=——FKITE JOLF— 37.99 m 12,000 455,880
e P 2| &P 20,000 40,000
IMTFLEY 3| vk 12,000 36,000( 2B E/\)La=—
aly0—EyRERHR L=1800 o] #& 7,400 0| Fit=E2-3
5|\ H—i14T L=1800 o =K 1,400 0| Fit=E2-3
6|7 0—+ v RERA =900 2l 4,000 8,000 F#ZE2-3
NN H—1 (T =900 2l K 1,600 3,200 F#£ZE2-3
8|1 L4k 1 ) 2,500 2,500
9| a—Xy0—UHiR 1058 4F% 12| & 2,500 30,000(L 1800t MSHIYH L T128TY,
1017547 vh&Y 251 2] K 12,000 24,000
119 AR OF% 9% 9] 3,000 27,000(L1 800tk MSEIYH L TOKRTT,
12|B EAR—)L 0] X 15,000 O XEREH(FILZHTIELTHET)
131BEEE150mmERS fH4#E150mm IS 16,000 0|4
14| K TFR 1| AT 20,000 20,000
15| 2B 0= F B E1E MIH 1 = 50,000 50,000
16| v F U MAELE o] =H 75,000 0|F &
17| LEHOE—T—T )L 2710%450%28 1 ) 33,000 33,000| 71 AERN I 53—
18|RYTITETFL o vk 5,000 0
19[BRY 517 2| &P 0 0| H—EX
20|FvFohHA—TEREE o] = 30,000 0
2| KKA—T Vo F K 1 = 15,936 15,936 | 1[N L 4&
22| LB FBIEFE 1 = 10,263 10,263| % R8SC
23| YKKIEE 1 a 103,000 103,000
24| T IVES U 1 = 6,000 6,000
25| T & 1 = 18,000 18,000
26| BEER T UREN/ N\ H—/ A TE 1 = 23,000 23,000
27| GeiEME L SR S R A4 1 = 11,000 11,000
28|l T & 1 = 12,000 12,000{N026.27
29
30

=l 7 905,779
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TE#/% NEHATA4VTIE

B [
No. 15 H TR HWE | B B (i Eof ] EE
1EBEYAT1VTHR—F KMEW EK3571FH 9| I 3,100 297,600
2|[E & R ER 44 KMEW EKP3571FH 11 X 5,800 63,800
NBEYATATHR—F —F/\ EPS493F 30| 3,900 117,000l KB YA T4 D TI—F—EEE
MNEBEHATAVTR—F KMEW NK4051U 62| 3,300 204,600\ KB YA T4 HDTa—F—HREE
6| EBYATATHR—F IGH JILRINUNEO-J T3 5pr—X 47,900 239,500 7m4%;E
7| ERRUYERH 1 = 40,000 40,000
8lA—N\—\2 5 £ =FIN 1 = 20,000 20,000
A —N—n\T &Y JOTO 1 = 20,000 20,000
10(BfFITE 8 1 8 32,200 32,200
11| FET 1 & 7,200 7,200
12| E@EKKTY 12 K 1,500 18,000
13[#&ETAME 6] XK 420 2,520
14[/\ykaf+— 80| & 600 48,000
15| TE (BEFAT1Y) 217 m 1,300 282,100
16| L& (ERYAT12Y) 63| m 1,600 100,800
17| L& OKYl-A—/8—\2 %) 43] m 300 12,900
18| T & (fR#%) 280 m 300 84,000
18| BR AL AR of M 3,500 0
19|56 T & (A JELAR) 0 ™ 1,500 0
20|1—1) 5 400 m 460 184,000
21[FER—bk 6] & 4,500 27,000
22|FhKT—7 6] & 450 2,700
23| FEIE R 2| vk 650 1,300
24| M & 1 = 35,000 35,000
258 KR & 1 = 100,000 100,000
26
27
28
29
30
=l 5 1,940,220
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TEHA S ERFEHEK T B g
iz : [

No. 15 H TR HWE | B B (i pog] EE
1KEIE 20VP 20 m 1,700 34,000
2| EKZFJ/E VIR o] =H 50,000 0
3|iEKEEKIE 100VU 30 m 4,800 144,000
475 K 4| TR 13,200 52,800
5|FIKEEKIE 65VURIAE FIT 6| “FT 3,600 21,600
6/100VU 32 m 4,400 140,800
7| /K 6| 7Pk 7,800 46,800
8|l EE IR E 1 = 6,000 6,000
o|ER/K#% 1| 7P 16,000 16,000
10()—F740> YA keO 1 & 25,060 25,060
MEPIZL IS 1 & 13,860 13,860
12|fETE 1 = 15,000 15,000
13
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=l H 515,920
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